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QUESTION 1

A customer wants to manage an E-Series system over a secure connection between the system and a server. During
implementation, you are asked to fulfill this installation requirement. 

In this scenario, which three actions are required to complete this task? (Choose three.) 

A. Disable the legacy management interface on the system 

B. Disable all the system\\'s local user roles except admin 

C. Import certificate authority signed certificates into the system 

D. Import the system\\'s self-signed certificates into the system 

E. Complete the certificate signing request on the system 

Correct Answer: ADE 

 

QUESTION 2

What are two methods for setting the host protocol configuration on the E2800 controller with a 4-port 16Gbps FC or
10Gbps iSCSI SFP+ host interface card (HIC)? (Choose two.) 

A. Set at the factory, based on the order 

B. Change the QSFP type in the HIC 

C. Change the Feature Pack in the SANtricity System Manager 

D. Set in the Hardware tab using SANtricity System Manager 

Correct Answer: CD 

Reference: https://docs.netapp.com/ess-11/index.jsp?topic=%2Fcom.netapp.doc.e-2800-sysmaint% 2FGUID-
C2A2AAC4-A1B9-468F-8CE8-862D32917840.html 

 

QUESTION 3

A company implemented Automatic Load Balancing (ALB). When the controller workloads are monitored, it becomes
obvious that there is an imbalance and that ALB is not working correctly. 

In this scenario, what are two causes of the problem? (Choose two.) 

A. The company implemented a load balancing min-min algorithm that does not support ALB 

B. The company implemented an adaptive load balancing agent that does not support ALB 

C. The company implemented a host multipath driver that does not support ALB 

D. The company implemented a host type that does not support ALB 
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Correct Answer: CD 

Reference: https://mysupport.netapp.com/NOW/public/eseries/sam/index.html#page/GUID-8538272AB802-49D9-9EA2-
96C82DAD26A2/GUID-90A829B6-ACEE-41C6-8595-91C7D90554EB.html 

 

QUESTION 4

Which alerting method would be configured using the SANtricity System Manager setup wizard? 

A. Syslog 

B. SNMP 

C. Web Services Proxy 

D. Email 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E19298-01/CRCM1573/CRCM1573.pdf 

 

QUESTION 5

Your company has an E-Series system connected to Cisco MDS switches. You are asked to provision a volume on a
new Windows host, but the Windows host is unable to connect to the volume on the E-Series system. All other Windows
hosts in the fabric are able to connect to their volumes. 

In this scenario, which three actions should you perform to accomplish this task? (Choose three.) 

A. Create a new virtual SAN (VSAN) 

B. Obtain the WWPN for the Windows HBA 

C. Restart the switches 

D. Create a single-initiator zone with the host and E-Series system 

E. Add a zone to the active zoneset 

Correct Answer: BCE 
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